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_: BARYONS NODE=BXXX030
(S=-21=1/2)

=0 = yss, =7 =dss
- P 1/1
=0 1UP) = 339
NODE=5023
P is not yet measured; + is the quark model prediction.
Mass m = 1314.86 + 0.20 MeV NODE=S023M;DTYPE=M
m=_ — m=o = 6.85 + 0.21 MeV NODE=S023D;DTYPE=D
I\/Iean |Ife T — (2 90 + 0 09) X 10 10 S NODE= SO23T DTYPE=T
cr = 8.71 cm NOD%NSCO23%TAIDDTYPE C;OUR EVAL;
Magnetic moment p = —1.250 4+ 0.014 pupy NOTDE $023MM:DTYPE=m
Decay parameters CLUMP=D
A70 o = —0.406 £+ 0.013 NODE=S023A;DTYPE=d;CLUMP=D;0UR
. — (91 + 19)° EVAL,— UNCHECKED '—
¢ = ( ) NODE=S023F;DTYPE=d;CLUMP=D
" v =0.85 [3] NQDE=S023GD: DTYPE=d;CLUMP=D;OUR
" A — (218+12)o [a] EVAL,— UNCHEC
= —19 NODE=5023DD: DTYPE d; CLUMP D;OUR
Ay a = —0.70 + 0.07 NGYALsGINCERSSER dicLuMP—D
Nete™ a=-0.8+02 NODE=S023LEE;DTYPE=d;CLUMP=D
50y a = —0.69 + 0.06 NODE=S023AG;DTYPE=d;CLUMP=D
Tte ve g1(0)/f(0) = 1.22 +0.05 NODE=5023AH;DTYPE=d:CLUMP=D
Tte ve £(0)/f(0) =2.0+ 0.9 NODE=5023AJ;DTYPE=d;CLUMP=D
P
=0 DECAY MODES Fraction (I';/T) Confidence level (MeV/c)
Ar0 (99.524£0.012) % 135 NODE=5023225;DESIG=1
A~y ( 117 4£0.07 ) x 1073 184 DESIG=9
Nete™ (76 +06 )x1070 184 DESIG=12
50 (333 £0.10 ) x 1073 117 DESIG=10
Yte 7, ( 252 £0.08 ) x 1074 120 DESIG=4
Ttut o, (233 £0.35 ) x 1070 64 DESIG=6
AS = AQ (SQ) violating modes or NODE=5023:CLUMP=A
AS = 2 forbidden (52) modes
Y ety S < 9 x10~4 90% 112 DESIG=5
Sty Q@ < 9 x 1074 90% 49 DESIG=7
pr— 2 < 8 x 1076 90% 299 DESIG=2
pe Ve $2 < 13 x 1073 323 DESIG=3
puT T, 2 < 13 x 1073 309 DESIG=8
=- 1Py =3G1)
NODE=5022
P is not yet measured; + is the quark model prediction.
Mass m = 1321.71 £ 0.07 MeV NODE=S022M;DTYPE=M
_ _ -5
(m=— —m=y) / m=— = (=3+9)x10 NODE=5022DMM;DTYPE=D
Mean life 7 = (1.639 + 0.015) x 10710 s NODE—=5022T :DTYPE=T
cr =491 cm NOD%T“SCOﬁE(é'&%;DDTYPE:C;OUR EVAL;
(t=- — 7=¢) /7= =—-0.01+£0.07 NODE=5022DT;DTYPE=i
Magnetic moment p = —0.6507 £ 0.0025 upy NODE=S022MM;DTYPE=m
(h=- + p=+) / p=-| = +0.01 £0.05 NODE=5022MMD:DTYPE=i:0UR EVAL;

— UNCHECKED «—



Decay parameters

A~ o =—0.458 + 0.012 (S =1.8)
[(Z)a—(A) — a(ET)ar(A)] / [sum] = (0 £ 7) x 10~*
" ¢ = (—2.140.8)°
" v =0.89 [l
" A = (175.9 + 1.5)° [3]
ANe T,  ga/gy = —0.25 + 0.05 [b]

P
=~ DECAY MODES Fraction (I';/T) Confidence level (MeV/c)
An— (99.887+0.035) % 140
Xy (1.27 £0.23 ) x 1074 118
Ne™ U, ( 5.63 £0.31 ) x 1074 190
AW D, (3 jg:g ) x 10~4 163
S0 1w, (87 +17 )x107° 123
S0u~p, < 8 x10~%  90% 70
Ve 7, < 23 x1073  90% 7

AS = 2 forbidden (52) modes
nmw~ 2 < 19 x 1072 90% 304
ne U, $2 < 32 x 1073 90% 327
npT U, $2 < 15 % 90% 314
pr w” 2 < 4 x 104 90% 223
pTT e T, 2 < 4 x10~4 90% 305
pTTpT T, 2 < 4 x 1074 90% 251
P L < 4 x 1078 90% 272
=(1530) 3/2t 0Py =331

=(1530)° mass m = 1531.80 + 0.32 MeV (S = 1.3)

=(1530) " mass m = 1535.0 + 0.6 MeV

=(1530)° full width I = 9.1 + 0.5 Mev

=(1530)~ full width T = 9.9 17 Mev

P
=(1530) DECAY MODES Fraction (I;/T) Confidence level (MeV/c)
=7 100 % 158
=y <4 % 90% 202

- ?
=(1690) 1Py = 12%)

Mass m = 1690 + 10 MeV €]

Full width ' < 30 MeV

=(1690) DECAY MODES Fraction (I;/T) p (MeV/c)

/\K seen 240

> K seen 70

=-n seen 311

Zata— possibly seen 213
=(1820) 3/2~ 1Py =3G7)

Mass m = 1823 + 5 MeV [c]

Full width T = 24+

> MeV []
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CLUMP=D

NODE= SO22A DTYPE=d;CLUMP=D;0UR
NCHECKED '—
NODE=5022ACP;DTYPE—d:CLUMP=D
NODE=S022F;DTYPE=d;CLUMP=D
NODE SO22GD DTYPE=d;CLUMP=D;0OUR
EVA NCHECKED
NODE SO22DD DTYPE= dCLUMP D:OUR

EVAL;— UNCHECKED
NODE:SO22AV;DTYPE:d;CLUMP:D

NODE=5022235;DESIG=1
DESIG=9
DESIG=2
DESIG=4

DESIG=5
DESIG=6
DESIG=13

NODE=5022;CLUMP=A
DESIG=3

DESIG=7

DESIG=8

DESIG=10

DESIG=11

DESIG=12

DESIG=14

NODE=B049

NODE=B049M0;DTYPE=M
NODE=B049M-;DTYPE=M
NODE=B049WO0;DTYPE=G

NODE=B049W-;DTYPE=G

NODE=B049225;DESIG=1;0UR EST
DESIG=2

NODE=B105

NODE:BlOS(l\:/I %EYPE M;OUR EST;
NODE=B105W;DTYPE=G;OUR EST,;
— ED

NODE=B105215;DESIG=2
DESIG=1;0UR EST
DESIG=3;0UR EST
DESIG=6

NODE=B050

NODE BO50M DTYPE M;OUR EST;
NCHECK
NODEfBO50W,DTYPE7G,OUR EST;
— UNCHECKED «



=(1820) DECAY MODES Fraction (I;/T) p (MeV/c)

/\K large 402

> K small 324

=7 small 421

=(1530) 7 small 237
=(1950) 1Py = 329

Mass m = 1950 + 15 MeV [c]
Full width T = 60 + 20 MeV (¢l

=(1950) DECAY MODES Fraction (I;/T) p (MeV/c)
/\K seen 522
> K possibly seen 460
=-n seen 519
-_ ?
=(2030) 1(JF) = 3(= 39

Mass m = 2025 + 5 MeV [c]
Full width T = 20712 MeV [€]

=(2030) DECAY MODES Fraction (I;/T) p (MeV/c)
AK ~ 20 % 585
> K ~ 80 % 529
=r small 574
=(1530)m small 416
N /’iﬁ small 499
Km small 428
NOTES

[a] The decay parameters v and A are calculated from « and ¢ using

v =1/1—a?2 cos¢, tanA = fé 1—a? sing .
See the “Note on Baryon Decay Parameters” in the neutron Particle List-
ings.

[b] The parameters ga, gv, and gy for semileptonic modes are defined by
Brlva(gv + gavs) + i(ewm/ms;) oxy 4”]Bi, and ¢ay is defined by
ga/gy = ‘gA/gV|e"¢AV. See the “Note on Baryon Decay Parameters”
in the neutron Particle Listings.

[c] The error given here is only an educated guess. It is larger than the error
on the weighted average of the published values.
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NODE=B050215;DESIG=1;0UR EST
DESIG=3;0UR EST
DESIG=2;0UR EST
DESIG=4;0UR EST

NODE=B052

NOD%:BOS2M;DTYPE:M;OUR EST;

NODE=B052W:DTYPE=G:OUR EST:
— UNCHECKED

NODE=B052215;DESIG=7;0UR EST
DESIG=6
DESIG=1;0UR EST

NODE=B068

NODE=B068M;DTYPE=M;OUR EST;
— UNCHECKED «

NODE=B068W;DTYPE=G;OUR EST,;
— UNCHECKED «

NODE=B068215;DESIG=2;0UR EST
DESIG=3;0UR EST
DESIG=1;0UR EST
DESIG=4;0UR EST
DESIG=6;0UR EST
DESIG=7;0UR EST

LINKAGE=SBE

LINKAGE=SBD

LINKAGE=BH



